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DAILY BASIS ASSIGNMENT 26

Date:19.05.2020 Class: VII Day: TUESDAY

Subject : English
Choose the type of the underlined nouns:

1. Riceisrich in carbohydrates.
a) Common
b) Proper
¢) Material
d) Abstract
2. Afishmonger is a person who sells fish.
a) Common
b) Proper
¢) Material
d) Abstract
3. The Indian cricket team is full of enthusiasm.
a) Common
b) Proper
¢) Material
d) Abstract
4. People suffer due to their ignorance.
a) Common
b) Proper
¢) Material
d) Abstract
5. Virtue is God’s gift to the world.
a) Common
b) Proper
¢) Material
d) Abstract

SUBJECT - PHYSICS

MULTIPLE CHOICE QUESTION (SELECT THE RIGHT OPTION) ;

1.A ball moving on the ground exhibit and motion.

a) rectilinear and rotational b) periodic and rotational ¢) circular and rotational d)circular
and rotational

2. A sewing machine exhibit as well as motion.

a) rectilinear and rotational b) periodic and rotational

¢) circular and rotational d)circular and rotational




3. The earth has three types of motion

a) Rotational , circular , rectilinear

b) Rotational , circular ,periodic

¢) Periodic , rectilinear, circular

d) Rotational , rectilinear ,circular

4. The invention of led to the development of new modes of transport.
a) Bullock cart b) Steam engine c) Boat d) Car

5. One of the following type of motion will not be exhibited by the moon is

a) periodic motion b) rectilinear motion c) rotational motion d) circular motion

SUBJECT : CHEMISTRY

1. Which of the following are naturally occurring indicators?
a. Litmus
b. Turmeric
c. China rose
d. All of the above
2. Which of the following is a synthetic indicator?
a. Litmus
b. Phenolphthalein
¢. Turmeric
d. China rose
3. Which of the following mineral acid is a weak acid?
a. Hydrochloric acid
b. Sulphuric acid
¢. Carbonic acid
d. Nitric acid
4. Acid rain causes damage to
a. Aquatic animals
b. Trees and crop plants
¢. Metal structures
d. All of the above
5. A __ which is soluble in water is called an alkali.
Base
Acid
Indicator
Salt

goFrR

SUBJECT: BIOLOGY

Multiple Choice questions
1. Pitcher plant traps insects because it

a) is a heterotroph



b) grows in soils which lack in Nitrogen
c) does not have chlorophyll

d) has a digestive system like human being

2. Two organisms are good friends and live together, one provides shelter and nutrients while
the other prepares and provides foods. Such an association of organisms is termed as
a) Autotroph
b) Insectivorous
¢) Saprophytic
d) Symbiosis
3. Insectivorous plants are also known as
a) Carnivorous plants
b) Symbiotic plants
c) Partial heterotrophs
d)Botha & c
4. In some of the plants coloured leaves are also equally efficient in photosynthesis because
it contains
a) Ribosome
b) Cellulose
c¢) Chlorophyll
d) All of the above
5. Chlorophyll pigment is located in which organelle of the cell?
a) Mitochondria
b) Cytoplasm
c) Vacuoles
d) Chloroplast
SUBJECT-SST

Q. Multiple choice questions

1. Public health care services are sponsored by
a) Individuals b) private business
c)Government. d) NGO by

2 . India is famous for

a) Medicines. b) Ayurveda

. Homoeopathy d. all of these

. Public health care facilities are

. PHCs. b . Government dispensaries
. Private clinics. d . Private homes

. Private healthcare services are

. Free of cost. b . Costly

. Specific. d . Very reasonable

. Unani is a traditional form of

. Medicine. b . art

. Science. d .herbal treatment
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SUBJECT - COMPUTER*

REVISION OF CH—1&2

Q. Multiple choice questions (Select the correct one):-

6. Speaker is an ........... device

a. Output b. Input c. Processing d. none of these

7. Computer is an .......... device

a. storage b. electronic c. input d. None of these

8. cceeeeee gives you better thumbnail previews with new fun theme
a. Remote media streaming b. Aero c. Windows taskbar d. None of these
9...ccoeeunnn.... feature redecorates your desktop with new fun themes
a. More personal b. Aero c. Jump list d. None of these

10. ............. IS an interface that makes your visual interaction with the
desktop amazing and easy

a. Aero b. Jump list c. Windows taskbar d. None of these



DBA- Sub- maths std-7 date-19.5.2020

1) Two thirdsof 81 ="
a) 2/3b)27c¢)81d)54
2) The product of 5/3 and 12/25 is
a) 12/36b) 4/5 c)5/4 d) 20/75
3) The simplified form of 3/8 x2/5 + %
a) 9/80b)45/64c)1/5d) 4/5
4) 3/7:7=2?
a) 3/49b)7c)3/7d)21/7
5) 7/16-3/8="?
a) 7/16b)3/8c)4/16d)1/16



wfafee e - 2
el - |Td e - FaTeTaR
v - depd fe=tieh - 19/05/2020
A feU T faehenl @ HE 3R g o |

(1) ‘@er T 3T § -

() e (@) el (1) FleT (7) Fefr
(2) ‘3T @1 I § -

() S8l A (@) 380 (1) 31T () e
(3) ‘ea’ & HA § -

() el (@) AGTET Fel (1) foaT g3 Fel () wEAT
(4) T/ HTE -

(o) FT g3 el (W) 3MeAdTel el (1) I (&) Fel
(5) ‘e &I INE -

() FeT (@) e (1) Fel § (F) Fa &



